ABRRBEY—TFTHENE: Zn—RGEA WS R%R RS
1. 3P -

1
2% - ¥=0, 3x+y=0, 2xtxy=1, 3xty-2x=0, x2 - x+1=04, ~Jo—RFTEHRIMER ()

A. 50 B. 440 C. 34D, 24

2. LR
H TR 3x - y=T7, 2xt3y=1, y=kx - 9FAILM, NWKHKIBUERN()
A.3B. -3C. -4D. 4

3. PR -
—+z

T

ot

X
X

L bd

T

tot

wﬁiéﬂ[ HIfE AR By, X)TERO)RR.
A.—B.Z-C.=ZD. 4

4. EHFERR -

x=2

a%n[}’ TR RBlocy =3 —ME, IAKKIER()
A.2B. -2C.1D. -1

5. A N
ax +2y=7

ERTx, yTBRAL TV TA HIRGBEM, MR KT B Ml A ()
A. -12B.7C.8D. 13

6. EHE B
REGRBEZZREAINFESLY PioBT—EE, KEL: 100LLAIFHR T 1005, SHI10T
KIOEeR3H B NG EER AT, MASSILKE ., SIS ? FRKRSHEIL, MNoH

yUL, 2RI A RN()
x4 ¥ =100 x +y<100
3x A39,=300 L, |x 43y 100

N 5.
[x+y—100

1
2x/+ 3y =300
¢V

£ ¥y =100
1

3x + 3y =300
D. )

7. R -

[Zx +y+3z=5
eanriaal 32251 o RRex -y - ZHHMER O
A.6B.7C.8D.9

8. MR I

[ x=4 _ v= 3_
R Y T o =5 g s or R DY Y = 2 pagminE L MilatbBIE ()
A -1B.1C.2D.0

9. kP
AERME, LIRBBEIREEIEFI20, TIRBHEE2REAILFE34856, NI 1IRBFEA




